[ Efficiency vs vertpos |

0.5

T PR R TR
2 E :
2 04F e B e
2 E :
3 0.35F e EERRIEEERS A BRRSRRRE SRR
Qo o T
T 0.3 EERIIEEERS 1} SELEETLEE LRI
0.25F oo b | SRR S TR
022— ---------- B i--n- ----------------------
O S R | SRR KRR
0.12— ---------- R .- ----- L R LT
0.05f -+ reerrheneessnene b ool
o v . | :
IS r ] :
o C ]
1_—n-n- --------------------- Equ-m—nr B SRR R T

o
©

g

=
o

Efficiend

0

[N}

107 1

10 0?
TP vertr (cn%)

—=— DQM_old
—e— DQM_wrong
—— DQM_V0001_RO

00000001__Global__ CMSSW_X Y _Z RECO

o

o
]

0.6

0.5

efficiency vs vert z

0.4

0.3

0.2

0.1

Ratio

0

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~0.05
>
f0.045
£
=004
$.035
&
£0.03
§.025
[J]
0.02
0.015
0.0
0.005

-

I Pleers

m. PV z (cm)




	Contents
	Page 1


